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(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEANEARES:IEY)

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 2,460
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 5.248 5.248
9 185= * <195 2.883 3.546 3.546
8 175= * <185 2.785 3.425 3.425
7 165= * <175 2.687 3.305 3.305
6 155= * <165 2.589 3.184 3.184
5 145 % <155 2.491 3.063 3.063
4 135= * <145 2.392 2943 2.943
3 125= * <135 2.294 2.822 2.822
2 115= * <125 2.196 2.701 2.701
1 105= * <115 2.098 2.581 2.581
0 95= * <105 2.000 2.460 2.460
-1 85= % < 95 1.902 2.339 2.339
-2 755 %x < 85 1.804 2.219 2.219
-3 65= % < 75 1.706 2.098 2.098
-4 555 % < 65 1.608 1.977 1.977
-5 45=< * < 55 1.509 1.857 1.857
-6 355 %k < 45 1.411 1.736 1.736
-7 25= % < 35 1.313 1.615 1.615
-8 155 % < 25 1.215 1.495 1.495
-9 55 %< 15 1.117 1.374 1.374
-10 0=x< 5 1.000 1.230 1.230

T19(E

2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AlF&2 (F11EBR)

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 2232
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 4761 4761
9 185= * <195 2.883 3.217 3.217
8 175= * <185 2.785 3.108 3.108
7 165= * <175 2.687 2.998 2.998
6 155= * <165 2.589 2.889 2.889
5 145 % <155 2.491 2.779 2.779
4 135= * <145 2.392 2670 2.670
3 125= * <135 2.294 2.560 2.560
2 115= * <125 2.196 2.451 2.451
1 105= * <115 2.098 2.341 2.341
0 95= * <105 2.000 2232 2.232
-1 85= % < 95 1.902 2123 2123
-2 755 %x < 85 1.804 2013 2.013
-3 65= % < 75 1.706 1.904 1.904
-4 555 % < 65 1.608 1.794 1.794
-5 45=< * < 55 1.509 1.685 1.685
-6 355 %k < 45 1.411 1.575 1.575
-7 25= % < 35 1.313 1.466 1.466
-8 155 % < 25 1.215 1.356 1.356
-9 55 %< 15 1.117 1.247 1.247
-10 0=x< 5 1.000 1.116 1.116

T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEZICARES:IEY)

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 1,958
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 4177 4177
9 185= * <195 2.883 2.822 2.822
8 175= * <185 2.785 2.726 2.726
7 165= * <175 2.687 2.630 2.630
6 155= * <165 2.589 2534 2534
5 145 % <155 2.491 2438 2.438
4 135= * <145 2.392 2.342 2.342
3 125= * <135 2.294 2.246 2.246
2 115= * <125 2.196 2.150 2.150
1 105= * <115 2.098 2.054 2.054
0 95= * <105 2.000 1.958 1.958
-1 85= % < 95 1.902 1.862 1.862
-2 755 %x < 85 1.804 1.766 1.766
-3 65= % < 75 1.706 1.670 1.670
-4 555 % < 65 1.608 1.574 1.574
-5 45=< * < 55 1.509 1.478 1.478
-6 355 %k < 45 1.411 1.382 1.382
-7 25= % < 35 1.313 1.286 1.286
-8 155 % < 25 1.215 1.190 1.190
-9 55 %< 15 1.117 1.094 1.094
-10 0=x< 5 1.000 0.979 0.979
T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEZAC ARE-SE LY

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
70 (BRAROREDTR)
RIREHEREE (%) 1367
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 2916 2916
9 185= * <195 2.883 1.971 1.971
8 175= * <185 2.785 1.903 1.903
7 165= * <175 2.687 1.836 1.836
6 155= * <165 2.589 1.769 1.769
5 145 % <155 2.491 1.702 1.702
4 135= * <145 2.392 1.635 1.635
3 125= * <135 2.294 1.568 1.568
2 115= * <125 2.196 1.501 1.501
1 105= * <115 2.098 1.434 1.434
0 95= * <105 2.000 1.367 1.367
-1 85= % < 95 1.902 1.300 1.300
-2 755 %x < 85 1.804 1.233 1.233
-3 65= % < 75 1.706 1.166 1.166
-4 555 % < 65 1.608 1.099 1.099
-5 45=< * < 55 1.509 1.032 1.032
-6 355 %k < 45 1.411 0.965 0.965
-7 25= % < 35 1.313 0.898 0.898
-8 155 % < 25 1.215 0.831 0.831
-9 55 %< 15 1.117 0.763 0.763
-10 0=x< 5 1.000 0.684 0.684

T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEIICARESES LY

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 2176
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 4.642 4.642
9 185= * <195 2.883 3.137 3.137
8 175= * <185 2.785 3.030 3.030
7 165= * <175 2.687 2923 2.923
6 155= * <165 2.589 2816 2816
5 145 % <155 2.491 2710 2.710
4 135= * <145 2.392 2.603 2.603
3 125= * <135 2.294 2.496 2.496
2 115= * <125 2.196 2.389 2.389
1 105= * <115 2.098 2.283 2.283
0 95= * <105 2.000 2176 2176
-1 85= % < 95 1.902 2.069 2.069
-2 755 %x < 85 1.804 1.963 1.963
-3 65= % < 75 1.706 1.856 1.856
-4 555 % < 65 1.608 1.749 1.749
-5 45=< * < 55 1.509 1.642 1.642
-6 355 %k < 45 1.411 1.536 1.536
-7 25= % < 35 1.313 1.429 1.429
-8 155 % < 25 1.215 1.322 1.322
-9 55 %< 15 1.117 1.215 1.215
-10 0=x< 5 1.000 1.088 1.088
T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEIIEARES:EY)

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 1,939
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 4136 4136
9 185= * <195 2.883 2.795 2.795
8 175= * <185 2.785 2.700 2.700
7 165= * <175 2.687 2.605 2.605
6 155= * <165 2.589 2510 2510
5 145 % <155 2.491 2415 2415
4 135= * <145 2.392 2.319 2319
3 125= * <135 2.294 2224 2.224
2 115= * <125 2.196 2129 2129
1 105= * <115 2.098 2.034 2.034
0 95= * <105 2.000 1.939 1.939
-1 85= % < 95 1.902 1.844 1.844
-2 755 %x < 85 1.804 1.749 1.749
-3 65= % < 75 1.706 1.654 1.654
-4 555 % < 65 1.608 1.559 1.559
-5 45=< * < 55 1.509 1.463 1.463
-6 355 %k < 45 1.411 1.368 1.368
-7 25= % < 35 1.313 1.273 1.273
-8 155 % < 25 1.215 1.178 1.178
-9 55 %< 15 1.117 1.083 1.083
-10 0=x< 5 1.000 0.970 0.970
T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEFAC ARESES LY

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 1658
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 3.537 3.537
9 185= * <195 2.883 2.390 2.390
8 175= * <185 2.785 2.309 2.309
7 165= * <175 2.687 2227 2.227
6 155= * <165 2.589 2146 2.146
5 145 % <155 2.491 2.065 2.065
4 135= * <145 2.392 1.983 1.983
3 125= * <135 2.294 1.902 1.902
2 115= * <125 2.196 1.821 1.821
1 105= * <115 2.098 1.739 1.739
0 95= * <105 2.000 1.658 1.658
-1 85= % < 95 1.902 1.577 1.577
-2 755 %x < 85 1.804 1.495 1.495
-3 65= % < 75 1.706 1.414 1.414
-4 555 % < 65 1.608 1.333 1.333
-5 45=< * < 55 1.509 1.251 1.251
-6 355 %k < 45 1.411 1.170 1.170
-7 25= % < 35 1.313 1.089 1.089
-8 155 % < 25 1.215 1.007 1.007
-9 55 %< 15 1.117 0.926 0.926
-10 0=x< 5 1.000 0.829 0.829
T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEZIEARES:IEY)

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
70 (BRAROREDTR)
RIREHEREE (%) 1047
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 2.233 2.233
9 185= * <195 2.883 1.509 1.509
8 175= * <185 2.785 1.458 1.458
7 165= * <175 2.687 1.407 1.407
6 155= * <165 2.589 1.355 1.355
5 145 % <155 2.491 1.304 1.304
4 135= * <145 2.392 1.252 1.252
3 125= * <135 2.294 1.201 1.201
2 115= * <125 2.196 1.150 1.150
1 105= * <115 2.098 1.098 1.098
0 95= * <105 2.000 1.047 1.047
-1 85= % < 95 1.902 0.996 0.996
-2 755 %x < 85 1.804 0.944 0.944
-3 65= % < 75 1.706 0.893 0.893
-4 555 % < 65 1.608 0.842 0.842
-5 45=< * < 55 1.509 0.790 0.790
-6 355 %k < 45 1.411 0.739 0.739
-7 25= % < 35 1.313 0.687 0.687
-8 155 % < 25 1.215 0.636 0.636
-9 55 %< 15 1.117 0.585 0.585
-10 0=x< 5 1.000 0.524 0.524

T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

GIEIIEARES::EY)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 1,809
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 3.859 3.859
9 185= * <195 2.883 2.608 2.608
8 175= * <185 2.785 2519 2519
7 165= * <175 2.687 2430 2430
6 155= * <165 2.589 2.341 2.341
5 145 % <155 2.491 2.253 2.253
4 135= * <145 2.392 2.164 2.164
3 125= * <135 2.294 2.075 2.075
2 115= * <125 2.196 1.986 1.986
1 105= * <115 2.098 1.898 1.898
0 95= * <105 2.000 1.809 1.809
-1 85= % < 95 1.902 1.720 1.720
-2 755 %x < 85 1.804 1.632 1.632
-3 65= % < 75 1.706 1.543 1.543
-4 555 % < 65 1.608 1.454 1.454
-5 45=< * < 55 1.509 1.365 1.365
-6 355 %k < 45 1.411 1.277 1.277
-7 25= % < 35 1.313 1.188 1.188
-8 155 % < 25 1.215 1.099 1.099
-9 55 %< 15 1.117 1.010 1.010
-10 0=x< 5 1.000 0.905 0.905

T19(E
2.000




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AF10 (B 115EER)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 1554
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 3.315 3.315
9 185= * <195 2.883 2.240 2.240
8 175= * <185 2.785 2.164 2.164
7 165= * <175 2.687 2.088 2.088
6 155= * <165 2.589 2.011 2.011
5 145 % <155 2.491 1.935 1.935
4 135= * <145 2.392 1.859 1.859
3 125= * <135 2.294 1.783 1.783
2 115= * <125 2.196 1.706 1.706
1 105= * <115 2.098 1.630 1.630
0 95= * <105 2.000 1.554 1.554
-1 85= % < 95 1.902 1.478 1.478
-2 755 %x < 85 1.804 1.402 1.402
-3 65= % < 75 1.706 1.325 1.325
-4 555 % < 65 1.608 1.249 1.249
-5 45=< * < 55 1.509 1.173 1.173
-6 355 %k < 45 1.411 1.097 1.097
-7 25= % < 35 1.313 1.020 1.020
-8 155 % < 25 1.215 0.944 0.944
-9 55 %< 15 1.117 0.868 0.868
-10 0=x< 5 1.000 0.777 0.777
T19(E
2.000

_10_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AFRI(BUEER)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 1265
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 2.699 2.699
9 185= * <195 2.883 1.824 1.824
8 175= * <185 2.785 1.761 1.761
7 165= * <175 2.687 1.699 1.699
6 155= * <165 2.589 1.637 1.637
5 145 % <155 2.491 1.575 1.575
4 135= * <145 2.392 1.513 1.513
3 125= * <135 2.294 1.451 1.451
2 115= * <125 2.196 1.389 1.389
1 105= * <115 2.098 1.327 1.327
0 95= * <105 2.000 1.265 1.265
-1 85= % < 95 1.902 1.203 1.203
-2 755 %x < 85 1.804 1.141 1.141
-3 65= % < 75 1.706 1.079 1.079
-4 555 % < 65 1.608 1.017 1.017
-5 45=< * < 55 1.509 0.955 0.955
-6 355 %k < 45 1.411 0.893 0.893
-7 25= % < 35 1.313 0.831 0.831
-8 155 % < 25 1.215 0.769 0.769
-9 55 %< 15 1.117 0.706 0.706
-10 0=x< 5 1.000 0.633 0.633

T19(E
2.000

_11_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AF12(BEER)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
70 (BRAROREDTR)
RIREHEREE (%) 0622
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 1.327 1.327
9 185= * <195 2.883 0.897 0.897
8 175= * <185 2.785 0.866 0.866
7 165= * <175 2.687 0.836 0.836
6 155= * <165 2.589 0.805 0.805
5 145 % <155 2.491 0.775 0.775
4 135= * <145 2.392 0.744 0.744
3 125= * <135 2.294 0.714 0.714
2 115= * <125 2.196 0.683 0.683
1 105= * <115 2.098 0.653 0.653
0 95= * <105 2.000 0.622 0.622
-1 85= % < 95 1.902 0.591 0.591
-2 755 %x < 85 1.804 0.561 0.561
-3 65= % < 75 1.706 0.530 0.530
-4 555 % < 65 1.608 0.500 0.500
-5 45=< * < 55 1.509 0.469 0.469
-6 355 %k < 45 1.411 0.439 0.439
-7 25= % < 35 1.313 0.408 0.408
-8 155 % < 25 1.215 0.378 0.378
-9 55 %< 15 1.117 0.347 0.347
-10 0=x< 5 1.000 0.311 0.311

T19(E
2.000

_12_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

IESRICARESE:LEY)

RIS TR AR 45 (%) 70 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 1336
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 2.850 2.850
9 185= * <195 2.883 1.926 1.926
8 175= * <185 2.785 1.860 1.860
7 165= * <175 2.687 1.795 1.795
6 155= * <165 2.589 1.729 1.729
5 145 % <155 2.491 1.664 1.664
4 135= * <145 2.392 1.598 1.598
3 125= * <135 2.294 1.533 1.533
2 115= * <125 2.196 1.467 1.467
1 105= * <115 2.098 1.402 1.402
0 95= * <105 2.000 1.336 1.336
-1 85= % < 95 1.902 1.270 1.270
-2 755 %x < 85 1.804 1.205 1.205
-3 65= % < 75 1.706 1.139 1.139
-4 555 % < 65 1.608 1.074 1.074
-5 45=< * < 55 1.509 1.008 1.008
-6 355 %k < 45 1.411 0.943 0.943
-7 25= % < 35 1.313 0.877 0.877
-8 155 % < 25 1.215 0.812 0.812
-9 55 %< 15 1.117 0.746 0.746
-10 0=x< 5 1.000 0.668 0.668
T19(E
2.000

_13_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AF14(BEER)

RIS TR AR 45 (%) 70 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 1,065
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 2272 2272
9 185= * <195 2.883 1.535 1.535
8 175= * <185 2.785 1.483 1.483
7 165= * <175 2.687 1.431 1.431
6 155= * <165 2.589 1.378 1.378
5 145 % <155 2.491 1.326 1.326
4 135= * <145 2.392 1.274 1.274
3 125= * <135 2.294 1.222 1.222
2 115= * <125 2.196 1.169 1.169
1 105= * <115 2.098 1.117 1.117
0 95= * <105 2.000 1.065 1.065
-1 85= % < 95 1.902 1.013 1.013
-2 755 %x < 85 1.804 0.961 0.961
-3 65= % < 75 1.706 0.908 0.908
-4 555 % < 65 1.608 0.856 0.856
-5 45=< * < 55 1.509 0.804 0.804
-6 355 %k < 45 1.411 0.752 0.752
-7 25= % < 35 1.313 0.699 0.699
-8 155 % < 25 1.215 0.647 0.647
-9 55 %< 15 1.117 0.595 0.595
-10 0=x< 5 1.000 0.533 0.533

T19(E
2.000

_14_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AF15 (B 11EER)

RIS TR AR 45 (%) 70 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 0.746
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 1.591 1.591
9 185= * <195 2.883 1.075 1.075
8 175= * <185 2.785 1.039 1.039
7 165= * <175 2.687 1.002 1.002
6 155= * <165 2.589 0.966 0.966
5 145 % <155 2.491 0.929 0.929
4 135= * <145 2.392 0.892 0.892
3 125= * <135 2.294 0.856 0.856
2 115= * <125 2.196 0.819 0.819
1 105= * <115 2.098 0.783 0.783
0 95= * <105 2.000 0.746 0.746
-1 85= % < 95 1.902 0.709 0.709
-2 755 %x < 85 1.804 0.673 0.673
-3 65= % < 75 1.706 0.636 0.636
-4 555 % < 65 1.608 0.600 0.600
-5 45=< * < 55 1.509 0.563 0.563
-6 355 %k < 45 1.411 0.526 0.526
-7 25= % < 35 1.313 0.490 0.490
-8 155 % < 25 1.215 0.453 0.453
-9 55 %< 15 1.117 0.417 0.417
-10 0=x< 5 1.000 0.373 0.373

T19(E
2.000

_15_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AF16 (B115EER)

RIS TR AR 45 (%) 60 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 0.751
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 1.602 1.602
9 185= * <195 2.883 1.083 1.083
8 175= * <185 2.785 1.046 1.046
7 165= * <175 2.687 1.009 1.009
6 155= * <165 2.589 0.972 0.972
5 145 % <155 2.491 0.935 0.935
4 135= * <145 2.392 0.898 0.898
3 125= * <135 2.294 0.862 0.862
2 115= * <125 2.196 0.825 0.825
1 105= * <115 2.098 0.788 0.788
0 95= * <105 2.000 0.751 0.751
-1 85= % < 95 1.902 0.714 0.714
-2 755 %x < 85 1.804 0.677 0.677
-3 65= % < 75 1.706 0.640 0.640
-4 555 % < 65 1.608 0.604 0.604
-5 45=< * < 55 1.509 0.567 0.567
-6 355 %k < 45 1.411 0.530 0.530
-7 25= % < 35 1.313 0.493 0.493
-8 155 % < 25 1.215 0.456 0.456
-9 55 %< 15 1.117 0.419 0.419
-10 0=x< 5 1.000 0.376 0.376

T19(E
2.000

_16_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

AT (BEER)

RIS TR AR 45 (%) 60 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 0418
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 0.892 0.892
9 185= * <195 2.883 0.603 0.603
8 175= * <185 2.785 0.582 0.582
7 165= * <175 2.687 0.562 0.562
6 155= * <165 2.589 0.541 0.541
5 145 % <155 2.491 0.521 0.521
4 135= * <145 2.392 0.500 0.500
3 125= * <135 2.294 0.480 0.480
2 115= * <125 2.196 0.459 0.459
1 105= * <115 2.098 0.439 0.439
0 95= * <105 2.000 0.418 0.418
-1 85= % < 95 1.902 0.397 0.397
-2 755 %x < 85 1.804 0.377 0.377
-3 65= % < 75 1.706 0.356 0.356
-4 555 % < 65 1.608 0.336 0.336
-5 45=< * < 55 1.509 0.315 0.315
-6 355 %k < 45 1.411 0.295 0.295
-7 25= % < 35 1.313 0.274 0.274
-8 155 % < 25 1.215 0.254 0.254
-9 55 %< 15 1.117 0.233 0.233
-10 0=x< 5 1.000 0.209 0.209

T19(E
2.000

_17_




(BR17)

IR A GRBR O f& PR ER B Tl R BR R D R

IESEICARESELEY)

RIS TR AR 45 (%) 50 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 0451
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 0.962 0.962
9 185= * <195 2.883 0.650 0.650
8 175= * <185 2.785 0.628 0.628
7 165= * <175 2.687 0.606 0.606
6 155= * <165 2.589 0.584 0.584
5 145 % <155 2.491 0.562 0.562
4 135= * <145 2.392 0.539 0.539
3 125= * <135 2.294 0.517 0.517
2 115= * <125 2.196 0.495 0.495
1 105= * <115 2.098 0.473 0.473
0 95= * <105 2.000 0.451 0.451
-1 85= % < 95 1.902 0.429 0.429
-2 755 %x < 85 1.804 0.407 0.407
-3 65= % < 75 1.706 0.385 0.385
-4 555 % < 65 1.608 0.363 0.363
-5 45=< * < 55 1.509 0.340 0.340
-6 355 %k < 45 1.411 0.318 0.318
-7 25= % < 35 1.313 0.296 0.296
-8 155 % < 25 1.215 0.274 0.274
-9 55 %< 15 1.117 0.252 0.252
-10 0=x< 5 1.000 0.226 0.226

T19(E
2.000

_18_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEANEARES:IEY)

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 2357
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 5.028 5.028
9 185= * <195 2.883 3.398 3.398
8 175= * <185 2.785 3.282 3.282
7 165= * <175 2.687 3.166 3.166
6 155= * <165 2.589 3.051 3.051
5 145 % <155 2.491 2935 2.935
4 135= * <145 2.392 2.820 2.820
3 125= * <135 2.294 2.704 2.704
2 115= * <125 2.196 2.588 2.588
1 105= * <115 2.098 2473 2473
0 95= * <105 2.000 2.357 2.357
-1 85= % < 95 1.902 2.241 2.241
-2 755 %x < 85 1.804 2126 2.126
-3 65= % < 75 1.706 2.010 2.010
-4 555 % < 65 1.608 1.894 1.894
-5 45=< * < 55 1.509 1.779 1.779
-6 355 %k < 45 1.411 1.663 1.663
-7 25= % < 35 1.313 1.548 1.548
-8 155 % < 25 1.215 1.432 1.432
-9 55 %< 15 1.117 1.316 1.316
-10 0=x< 5 1.000 1.179 1.179

T19(E
2.000

_19_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AlF&2 (F11EBR)

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 2124
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 4531 4531
9 185= * <195 2.883 3.062 3.062
8 175= * <185 2.785 2.958 2.958
7 165= * <175 2.687 2.853 2.853
6 155= * <165 2.589 2.749 2.749
5 145 % <155 2.491 2.645 2.645
4 135= * <145 2.392 2.541 2.541
3 125= * <135 2.294 2437 2437
2 115= * <125 2.196 2.332 2.332
1 105= * <115 2.098 2.228 2.228
0 95= * <105 2.000 2124 2124
-1 85= % < 95 1.902 2.020 2.020
-2 755 %x < 85 1.804 1.916 1.916
-3 65= % < 75 1.706 1.811 1.811
-4 555 % < 65 1.608 1.707 1.707
-5 45=< * < 55 1.509 1.603 1.603
-6 355 %k < 45 1.411 1.499 1.499
-7 25= % < 35 1.313 1.395 1.395
-8 155 % < 25 1.215 1.290 1.290
-9 55 %< 15 1.117 1.186 1.186
-10 0=x< 5 1.000 1.062 1.062

T19(E
2.000

_20_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEZICARES:IEY)

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 1,860
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 3.968 3.968
9 185= * <195 2.883 2.681 2.681
8 175= * <185 2.785 2.590 2.590
7 165= * <175 2.687 2.499 2.499
6 155= * <165 2.589 2.407 2.407
5 145 % <155 2.491 2316 2316
4 135= * <145 2.392 2225 2.225
3 125= * <135 2.294 2134 2134
2 115= * <125 2.196 2.042 2.042
1 105= * <115 2.098 1.951 1.951
0 95= * <105 2.000 1.860 1.860
-1 85= % < 95 1.902 1.769 1.769
-2 755 %x < 85 1.804 1.678 1.678
-3 65= % < 75 1.706 1.586 1.586
-4 555 % < 65 1.608 1.495 1.495
-5 45=< * < 55 1.509 1.404 1.404
-6 355 %k < 45 1.411 1.313 1.313
-7 25= % < 35 1.313 1.221 1.221
-8 155 % < 25 1.215 1.130 1.130
-9 55 %< 15 1.117 1.039 1.039
-10 0=x< 5 1.000 0.930 0.930
T19(E
2.000

_21_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEZAC ARE-SE LY

RIS TR AR 45 (%) 80 (1%@7'5#@*%1%@@)
70 (BRAROREDTR)
RIREHEREE (%) 1304
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 2.782 2.782
9 185= * <195 2.883 1.880 1.880
8 175= * <185 2.785 1.816 1.816
7 165= * <175 2.687 1.752 1.752
6 155= * <165 2.589 1.688 1.688
5 145 % <155 2.491 1.624 1.624
4 135= * <145 2.392 1.560 1.560
3 125= * <135 2.294 1.496 1.496
2 115= * <125 2.196 1.432 1.432
1 105= * <115 2.098 1.368 1.368
0 95= * <105 2.000 1.304 1.304
-1 85= % < 95 1.902 1.240 1.240
-2 755 %x < 85 1.804 1.176 1.176
-3 65= % < 75 1.706 1.112 1.112
-4 555 % < 65 1.608 1.048 1.048
-5 45=< * < 55 1.509 0.984 0.984
-6 355 %k < 45 1.411 0.920 0.920
-7 25= % < 35 1.313 0.856 0.856
-8 155 % < 25 1.215 0.792 0.792
-9 55 %< 15 1.117 0.728 0.728
-10 0=x< 5 1.000 0.652 0.652

T19(E
2.000

_22_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEIICARESES LY

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 2087
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 4.452 4.452
9 185= * <195 2.883 3.008 3.008
8 175= * <185 2.785 2.906 2.906
7 165= * <175 2.687 2.804 2.804
6 155= * <165 2.589 2.701 2.701
5 145 % <155 2.491 2.599 2.599
4 135= * <145 2.392 2497 2.497
3 125= * <135 2.294 2.394 2.394
2 115= * <125 2.196 2.292 2.292
1 105= * <115 2.098 2.189 2.189
0 95= * <105 2.000 2.087 2.087
-1 85= % < 95 1.902 1.985 1.985
-2 755 %x < 85 1.804 1.882 1.882
-3 65= % < 75 1.706 1.780 1.780
-4 555 % < 65 1.608 1.677 1.677
-5 45=< * < 55 1.509 1.575 1.575
-6 355 %k < 45 1.411 1.473 1.473
-7 25= % < 35 1.313 1.370 1.370
-8 155 % < 25 1.215 1.268 1.268
-9 55 %< 15 1.117 1.166 1.166
-10 0=x< 5 1.000 1.044 1.044
T19(E
2.000

_23_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEIIEARES:EY)

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 1847
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 3.940 3.940
9 185= * <195 2.883 2.662 2.662
8 175= * <185 2.785 2572 2572
7 165= * <175 2.687 2481 2.481
6 155= * <165 2.589 2.391 2.391
5 145 % <155 2.491 2.300 2.300
4 135= * <145 2.392 2.209 2.209
3 125= * <135 2.294 2119 2119
2 115= * <125 2.196 2.028 2.028
1 105= * <115 2.098 1.938 1.938
0 95= * <105 2.000 1.847 1.847
-1 85= % < 95 1.902 1.756 1.756
-2 755 %x < 85 1.804 1.666 1.666
-3 65= % < 75 1.706 1.575 1.575
-4 555 % < 65 1.608 1.485 1.485
-5 45=< * < 55 1.509 1.394 1.394
-6 355 %k < 45 1.411 1.303 1.303
-7 25= % < 35 1.313 1.213 1.213
-8 155 % < 25 1.215 1.122 1.122
-9 55 %< 15 1.117 1.032 1.032
-10 0=x< 5 1.000 0.924 0.924
T19(E
2.000

_24_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEFAC ARESES LY

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 1576
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 3.362 3.362
9 185= * <195 2.883 2272 2272
8 175= * <185 2.785 2195 2.195
7 165= * <175 2.687 2117 2117
6 155= * <165 2.589 2.040 2.040
5 145 % <155 2.491 1.963 1.963
4 135= * <145 2.392 1.885 1.885
3 125= * <135 2.294 1.808 1.808
2 115= * <125 2.196 1.731 1.731
1 105= * <115 2.098 1.653 1.653
0 95= * <105 2.000 1.576 1.576
-1 85= % < 95 1.902 1.499 1.499
-2 755 %x < 85 1.804 1.421 1.421
-3 65= % < 75 1.706 1.344 1.344
-4 555 % < 65 1.608 1.267 1.267
-5 45=< * < 55 1.509 1.189 1.189
-6 355 %k < 45 1.411 1.112 1.112
-7 25= % < 35 1.313 1.035 1.035
-8 155 % < 25 1.215 0.957 0.957
-9 55 %< 15 1.117 0.880 0.880
-10 0=x< 5 1.000 0.788 0.788

T19(E
2.000

_25_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEZIEARES:IEY)

RIS TR AR 45 (%) 78 (1%@7'5#@*%1%@@)
70 (BRAROREDTR)
RIREHEREE (%) 1.001
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 2135 2135
9 185= * <195 2.883 1.443 1.443
8 175= * <185 2.785 1.394 1.394
7 165= * <175 2.687 1.345 1.345
6 155= * <165 2.589 1.296 1.296
5 145 % <155 2.491 1.247 1.247
4 135= * <145 2.392 1.197 1.197
3 125= * <135 2.294 1.148 1.148
2 115= * <125 2.196 1.099 1.099
1 105= * <115 2.098 1.050 1.050
0 95= * <105 2.000 1.001 1.001
-1 85= % < 95 1.902 0.952 0.952
-2 755 %x < 85 1.804 0.903 0.903
-3 65= % < 75 1.706 0.854 0.854
-4 555 % < 65 1.608 0.805 0.805
-5 45=< * < 55 1.509 0.755 0.755
-6 355 %k < 45 1.411 0.706 0.706
-7 25= % < 35 1.313 0.657 0.657
-8 155 % < 25 1.215 0.608 0.608
-9 55 %< 15 1.117 0.559 0.559
-10 0=x< 5 1.000 0.501 0.501

T19(E
2.000

_26_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

GIEIIEARES::EY)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 1738
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 3.708 3.708
9 185= * <195 2.883 2.505 2.505
8 175= * <185 2.785 2420 2420
7 165= * <175 2.687 2.335 2.335
6 155= * <165 2.589 2.250 2.250
5 145 % <155 2.491 2164 2.164
4 135= * <145 2.392 2.079 2.079
3 125= * <135 2.294 1.994 1.994
2 115= * <125 2.196 1.909 1.909
1 105= * <115 2.098 1.823 1.823
0 95= * <105 2.000 1.738 1.738
-1 85= % < 95 1.902 1.653 1.653
-2 755 %x < 85 1.804 1.567 1.567
-3 65= % < 75 1.706 1.482 1.482
-4 555 % < 65 1.608 1.397 1.397
-5 45=< * < 55 1.509 1.312 1.312
-6 355 %k < 45 1.411 1.226 1.226
-7 25= % < 35 1.313 1.141 1.141
-8 155 % < 25 1.215 1.056 1.056
-9 55 %< 15 1.117 0.971 0.971
-10 0=x< 5 1.000 0.869 0.869
T19(E
2.000

_2 7_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AF10 (B 115EER)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 1284
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 3.166 3.166
9 185= * <195 2.883 2139 2.139
8 175= * <185 2.785 2.066 2.066
7 165= * <175 2.687 1.994 1.994
6 155= * <165 2.589 1.921 1.921
5 145 % <155 2.491 1.848 1.848
4 135= * <145 2.392 1.775 1.775
3 125= * <135 2.294 1.702 1.702
2 115= * <125 2.196 1.630 1.630
1 105= * <115 2.098 1.557 1.557
0 95= * <105 2.000 1.484 1.484
-1 85= % < 95 1.902 1.411 1.411
-2 755 %x < 85 1.804 1.338 1.338
-3 65= % < 75 1.706 1.266 1.266
-4 555 % < 65 1.608 1.193 1.193
-5 45=< * < 55 1.509 1.120 1.120
-6 355 %k < 45 1.411 1.047 1.047
-7 25= % < 35 1.313 0.974 0.974
-8 155 % < 25 1.215 0.902 0.902
-9 55 %< 15 1.117 0.829 0.829
-10 0=x< 5 1.000 0.742 0.742

T19(E
2.000

_28_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AFRI(BUEER)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 1206
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 2573 2573
9 185= * <195 2.883 1.738 1.738
8 175= * <185 2.785 1.679 1.679
7 165= * <175 2.687 1.620 1.620
6 155= * <165 2.589 1.561 1.561
5 145 % <155 2.491 1.502 1.502
4 135= * <145 2.392 1.443 1.443
3 125= * <135 2.294 1.383 1.383
2 115= * <125 2.196 1.324 1.324
1 105= * <115 2.098 1.265 1.265
0 95= * <105 2.000 1.206 1.206
-1 85= % < 95 1.902 1.147 1.147
-2 755 %x < 85 1.804 1.088 1.088
-3 65= % < 75 1.706 1.029 1.029
-4 555 % < 65 1.608 0.969 0.969
-5 45=< * < 55 1.509 0.910 0.910
-6 355 %k < 45 1.411 0.851 0.851
-7 25= % < 35 1.313 0.792 0.792
-8 155 % < 25 1.215 0.733 0.733
-9 55 %< 15 1.117 0.674 0.674
-10 0=x< 5 1.000 0.603 0.603
T19(E
2.000

_29_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AF12(BEER)

RIS TR AR 45 (%) 75 (1%@7'5#@*%1%@@)
70 (BRAROREDTR)
RIREHEREE (%) 0598
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 1.276 1.276
9 185= * <195 2.883 0.862 0.862
8 175= * <185 2.785 0.833 0.833
7 165= * <175 2.687 0.803 0.803
6 155= * <165 2.589 0.774 0.774
5 145 % <155 2.491 0.745 0.745
4 135= * <145 2.392 0.715 0.715
3 125= * <135 2.294 0.686 0.686
2 115= * <125 2.196 0.657 0.657
1 105= * <115 2.098 0.627 0.627
0 95= * <105 2.000 0.598 0.598
-1 85= % < 95 1.902 0.569 0.569
-2 755 %x < 85 1.804 0.539 0.539
-3 65= % < 75 1.706 0.510 0.510
-4 555 % < 65 1.608 0.481 0.481
-5 45=< * < 55 1.509 0.451 0.451
-6 355 %k < 45 1.411 0.422 0.422
-7 25= % < 35 1.313 0.393 0.393
-8 155 % < 25 1.215 0.363 0.363
-9 55 %< 15 1.117 0.334 0.334
-10 0=x< 5 1.000 0.299 0.299
T19(E
2.000

_30_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

IESRICARESE:LEY)

RIS TR AR 45 (%) 70 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 1291
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 2.754 2.754
9 185= * <195 2.883 1.861 1.861
8 175= * <185 2.785 1.798 1.798
7 165= * <175 2.687 1.734 1.734
6 155= * <165 2.589 1.671 1.671
5 145 % <155 2.491 1.608 1.608
4 135= * <145 2.392 1.544 1.544
3 125= * <135 2.294 1.481 1.481
2 115= * <125 2.196 1.418 1.418
1 105= * <115 2.098 1.354 1.354
0 95= * <105 2.000 1.291 1.291
-1 85= % < 95 1.902 1.228 1.228
-2 755 %x < 85 1.804 1.164 1.164
-3 65= % < 75 1.706 1.101 1.101
-4 555 % < 65 1.608 1.038 1.038
-5 45=< * < 55 1.509 0.974 0.974
-6 355 %k < 45 1.411 0.911 0.911
-7 25= % < 35 1.313 0.848 0.848
-8 155 % < 25 1.215 0.784 0.784
-9 55 %< 15 1.117 0.721 0.721
-10 0=x< 5 1.000 0.646 0.646
T19(E
2.000

_31_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AF14(BEER)

RIS TR AR 45 (%) 70 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 1022
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 2.180 2.180
9 185= * <195 2.883 1.473 1.473
8 175= * <185 2.785 1.423 1.423
7 165= * <175 2.687 1.373 1.373
6 155= * <165 2.589 1.323 1.323
5 145 % <155 2.491 1.273 1.273
4 135= * <145 2.392 1.223 1.223
3 125= * <135 2.294 1.172 1.172
2 115= * <125 2.196 1.122 1.122
1 105= * <115 2.098 1.072 1.072
0 95= * <105 2.000 1.022 1.022
-1 85= % < 95 1.902 0.972 0.972
-2 755 %x < 85 1.804 0.922 0.922
-3 65= % < 75 1.706 0.872 0.872
-4 555 % < 65 1.608 0.821 0.821
-5 45=< * < 55 1.509 0.771 0.771
-6 355 %k < 45 1.411 0.721 0.721
-7 25= % < 35 1.313 0.671 0.671
-8 155 % < 25 1.215 0.621 0.621
-9 55 %< 15 1.117 0.571 0.571
-10 0=x< 5 1.000 0.511 0.511
T19(E
2.000

_32_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AF15 (B 11EER)

RIS TR AR 45 (%) 70 (1%@7'5#@*%1%@@)
60 (BRAROREDTR)
RIREHEREE (%) 0714
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 1.523 1.523
9 185= * <195 2.883 1.029 1.029
8 175= * <185 2.785 0.994 0.994
7 165= * <175 2.687 0.959 0.959
6 155= * <165 2.589 0.924 0.924
5 145 % <155 2.491 0.889 0.889
4 135= * <145 2.392 0.854 0.854
3 125= * <135 2.294 0.819 0.819
2 115= * <125 2.196 0.784 0.784
1 105= * <115 2.098 0.749 0.749
0 95= * <105 2.000 0.714 0.714
-1 85= % < 95 1.902 0.679 0.679
-2 755 %x < 85 1.804 0.644 0.644
-3 65= % < 75 1.706 0.609 0.609
-4 555 % < 65 1.608 0.574 0.574
-5 45=< * < 55 1.509 0.539 0.539
-6 355 %k < 45 1.411 0.504 0.504
-7 25= % < 35 1.313 0.469 0.469
-8 155 % < 25 1.215 0.434 0.434
-9 55 %< 15 1.117 0.399 0.399
-10 0=x< 5 1.000 0.357 0.357
T19(E
2.000

_33_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AF16 (B115EER)

RIS TR AR 45 (%) 60 (1%@7'5#@*%1%@@)
— (REARXDFHEEDTR)
RIREHEREE (%) 0731
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 1.559 1.559
9 185= * <195 2.883 1.054 1.054
8 175= * <185 2.785 1.018 1.018
7 165= * <175 2.687 0.982 0.982
6 155= * <165 2.589 0.946 0.946
5 145 % <155 2.491 0.910 0.910
4 135= * <145 2.392 0.874 0.874
3 125= * <135 2.294 0.839 0.839
2 115= * <125 2.196 0.803 0.803
1 105= * <115 2.098 0.767 0.767
0 95= * <105 2.000 0.731 0.731
-1 85= % < 95 1.902 0.695 0.695
-2 755 %x < 85 1.804 0.659 0.659
-3 65= % < 75 1.706 0.623 0.623
-4 555 % < 65 1.608 0.588 0.588
-5 45=< * < 55 1.509 0.552 0.552
-6 355 %k < 45 1.411 0.516 0.516
-7 25= % < 35 1.313 0.480 0.480
-8 155 % < 25 1.215 0.444 0.444
-9 55 %< 15 1.117 0.408 0.408
-10 0=x< 5 1.000 0.366 0.366
T19(E
2.000

_34_




IR A GRBR O f& PR ER B Tl R BR R D R

(EE®)

AT (BEER)

RIS TR AR 45 (%) 60 (1%@7'5#@*%1%@@)
50 (BRAROREDTR)
RIREHEREE (%) 0409
IR TRREECO gty | sumpas | CERELH

(%) (%) (%)

10 195= % 4.266 0.872 0.872
9 185= * <195 2.883 0.590 0.590
8 175= * <185 2.785 0.570 0.570
7 165= * <175 2.687 0.549 0.549
6 155= * <165 2.589 0.529 0.529
5 145 % <155 2.491 0.509 0.509
4 135= * <145 2.392 0.489 0.489
3 125= * <135 2.294 0.469 0.469
2 115= * <125 2.196 0.449 0.449
1 105= * <115 2.098 0.429 0.429
0 95= * <105 2.000 0.409 0.409
-1 85= % < 95 1.902 0.389 0.389
-2 755 %x < 85 1.804 0.369 0.369
-3 65= % < 75 1.706 0.349 0.349
-4 555 % < 65 1.608 0.329 0.329
-5 45=< * < 55 1.509 0.309 0.309
-6 355 %k < 45 1.411 0.289 0.289
-7 25= % < 35 1.313 0.269 0.269
-8 155 % < 25 1.215 0.248 0.248
-9 55 %< 15 1.117 0.228 0.228
-10 0=x< 5 1.000 0.205 0.205

T19(E
2.000
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RIREHEREE (%) 0434
IR TRREECO gty | sumpas | CERELH
(%) (%) (%)
10 195= % 4.266 0.926 0.926
9 185= * <195 2.883 0.626 0.626
8 175= * <185 2.785 0.604 0.604
7 165= * <175 2.687 0.583 0.583
6 155= * <165 2.589 0.562 0.562
5 145 % <155 2.491 0.540 0.540
4 135= * <145 2.392 0.519 0.519
3 125= * <135 2.294 0.498 0.498
2 115= * <125 2.196 0477 0477
1 105= * <115 2.098 0.455 0.455
0 95= * <105 2.000 0.434 0.434
-1 85= % < 95 1.902 0.413 0.413
-2 755 %x < 85 1.804 0.391 0.391
-3 65= % < 75 1.706 0.370 0.370
-4 555 % < 65 1.608 0.349 0.349
-5 45=< * < 55 1.509 0.328 0.328
-6 355 %k < 45 1.411 0.306 0.306
-7 25= % < 35 1.313 0.285 0.285
-8 155 % < 25 1.215 0.264 0.264
-9 55 %< 15 1.117 0.242 0.242
-10 0=x< 5 1.000 0.217 0.217
T19(E
2.000
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